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Liangent = Lgiameter + MR? The moment of inertia of solid sphere A about
= %MR2 +MR? = %MR2 its diameterI, = %MR2
) The moment of inertia of a hollow sphere B

By the theorem of perpendicular axes,
I=1Igr + Ion

Here, I is the moment of inertia of square
lamina about an axis through O and
perpendicular to its plane.

. Igr = Ign (By Symmetry of Figure)
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Again, by the same theorem,

I'=1Iac + Isp = 2lac

(.. TIac = Isp by symmetry of the figure)
I

Le=3 ... (i)

From (i) and (i1), we get, Igr = lac
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about its diameter I = %MR2
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The moment of inertia of a disc of radius R
about an axis perpendicular to the disc and

passing through the centre

IzéMRz =%><0.4><12 =0.2 kgm?
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